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for(i=0;i<n;i++) x[i] += dx[i];
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doi=1,n
x(i) = x(1) + dx(1)
enddo

gooobooooooo4000000000D0OO0O0ODOOOODOOOOOODO CcOOD
O Fortran OO0 O0O0O0OO0OO0O0OCOO0O0ODOODOOOOODOODOODOODODOOOOOOODOO
gobooboobobooobooboboobuoobbooboooo

O00OFortran 95 D00 DO0O0O0OO0OODOOODOOODOOODOODODOOODOOODOODDODDOOD
goooooooooboooboooooboooobbooooDoooobOo00 C++00bbooo
goooobooooooooo

C++0000C0D0O0C0ODO0OOOO0ODO0OOOO0OOO0ODOO0OOODOOOOODOOODOOOC++ DO
gooogboooobooobomooobooooboooboobooobooboboobooboboo
gboboobuooboobobobobooboobuooboobooooboboboobooboab
gobooboooboboobooooon

gobooboobooboobooobooboobooboboobobobooboobboOon
gbboobuoobooboobboobboobuoobooboboboobboobuooboab
HEN

http://grape.astron.s.u-tokyo.ac. jp/ “makino/pcphysics/programs/vector.h

gboboobooboobooobboooboobuoobooobooobooboobbooboonbooon
gobooboooboooboooboo

/ vector -- a class for VLEN-dimensional vectors

/ VLEN must be defined as constant before this header

#ifndef _VECTOR_H
# define _VECTOR_H
class mvector
{
private:
double element[VLEN];
public:
mvector (double ¢c=0 ) {for (int i=0;i<VLEN;i++)element[il=c;}
double & operator [] (int i) {return element[i];}
friend const mvector operator + (const mvector &,
const mvector &);
mvector& operator += (const mvector& b)
{for(int i=0; i<VLEN;i++)element[i] += b.element[i];
return *this;}
friend ostream & operator <<(ostream & , const mvector & );

friend istream & operator >> (istream & , mvector & );



inline ostream & operator <<(ostream & s, const mvector & v)

{
for(int i=0; i<VLEN;i++)s <<v.element[i] <<" " ;
return s;
}
inline istream & operator >> (istream & s, mvector & v)
{
for(int i=0; i<VLEN;i++)s >> v.element[i];
return s;
}

inline const mvector operator + (const mvector &vl,

const mvector & v2)

mvector v3;
for(int i=0; i<VLEN;i++)
v3.element[i] = vi.element[i]+ v2.element[i];
return v3;
}
typedef const mvector (vfunc) (const mvector &);
#endif

gbobogboodgabod

const int VLEN = 2;

#include '"vector.h"

double k;
mvector dxdt(mvector & x)
{
mvector d;
da[o] = x[1]1;
d[1] = -k*x[0];
return d;
}
double h;

mvector kx1;
kx1 = dxdt(x)*h;
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